THE MOTHRp,
PRE Bog s INTERNATIONAL g,
RD EXAMINATION 20,00,
SUR . CLASS 12 4
DAT BJECT: ECONOMICS
E: 19 DECEMBER 2023

Max Markﬁ:ﬂo , |
- * Time: 3 hourg

Generd pstructions

: _'rfgerr: :::e 20 questions of 1 mark each: )
.'“;‘f) ere are 4 question
( ords. S of 3 marks each to be answg,q in 60-80
iy There are 6 questions of 4 marks ea
words. |
(v) There are 4 questions of 6 marka each to be answered in 100-150

words. . N\

ch 1o be answereq in 80-100

SECTION A
LWhich of the following is an example of normal resident of India?

8) Foreigner working in WHO located in India
b) The German working as director in IMF office located-in India

C) Ambassador in India from rest of the world A)
q) Ambassador of India in rest of the world

. _ _ : a7
¢ Wihich of the following is an example of limited legal tender money " Inaia

) 1 rupee coin

20 rupee note :
t? %00 rupee note 3 . o (1
eg after an !t (1)

3
Ueggh.e feserve ratio is 20%, what will be the amount of total reserv
Sit O rupees 200? .
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4.
1t | ent
E) Zero
) Not defined
©) One
9 Ten (1)
9. S
de .tatement 1: The Producers suffer losses When actual stocks are |ags ihan the
Sireq Stocks. , o
= (1)

S : i ‘ :
tatemEnt 2: Quiput Is determined by the level of investment in the e¢zi
Read the statements carefully and chﬁose the correct alternative,

) Both statements are trye
* b) Both statements are false
C) Statement 1 is true and statement 2 is false.
d) Statement 2 is true and statement 1 is false. (1)

6. h? 2021, the government said that despite the current resource crunch, it has decid ed
to hike its capital expenditure by-34.5%. Which of the following could be a reason for

this hike?

a) Increase in salaries of government employees

‘b) Repayment of mounting interest on international loans

c) Paying pending pensions to government employees

d) Rapid employment generation through infrastructural projects (1)

7. Which of the following is true about revenue réceipts?

a) Non-recurring in nature

b) May create corresponding liability

¢) Do not lead to increase in liability

d) Including loans taken by government )

d received from PSUs are a part of government's = =

g. Dividen
Non tax revenue receipts

ceipts
ital receipts
C) gzgit Al expenditure
d) (1)

ds a huge amount of jmports for develo t of |
try nee or imp pment of programsg_ Na
Tne GOUW‘;iGh the Central bank can, tgke to make imports cheaper using foreign Me

0 :
Zlchﬂnge ' 0

Taxre
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10 Idgntify the Correct "€as0n that may Jffect the demand g, foreigh exchange.

lrﬂF“j”'t of visibies
. it of vigi
EXpo Visibles

h, BP N
" remittances by residents working abroad

", Ju[ChESE of assets abroad
-3) and 1l
c) (1t and IV <
d) |and IV | : ) ()

—

11, Explain the treatment assigned to the following while estimating national income-.
~ Give reason. s ,

a) Expenditure on maintenance of a building
b) Expenditure on adding a floor to the building | ,
c) Expenditure on fertilizers by farmer__ ' . | (3)

—]

_ - - o i ‘ % ‘\
12. Explain how the government can use.the budgetary policy in reducing inequality 923)
income in the country. B | e
13. How will a change in bank rate affect the demand for credit?. Explain. (4)
14. What changes will take place to bring an economy in equilibrium if
. Planned savings are greater than planned investment. (4)

i. Planned savings are less than planned investment.-—

-

n 1 Mn | l m kEtS
1 I l SE"&I'S in the I d|an Gapltal al
I"VEStOfS l’emalnEd e ‘

» State and discuss the likely effects of t )
reference to Indian economy.

15. “Foreign institutional
over the last few weeks.*
foreign exchange rate with

ncome.' What is meant by

loyment level of |
al measure and oné

16.‘An economy is operating @ Also discuss one fisc
the given statement? Draw i
Monetary measure to tackle

(6)
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- ‘HQ 5
n .
ITEMS - foljowing data, fing the vy ; perating surplys’ and ‘net exp?
alues 0
IN S,
II) Wages and Salaries —283’3'6 / |
iy ~~National income . e
Iv) Net fagtor INCOme from abroad | 200 _ /
v) Emation //j//
[ i e s -~
vj)ﬂ“#:}fe‘j '“EPEL__ 400
rivate final Cﬂnsumpﬁun 1 2000
— SXxpenditure . o -
v") ﬁ_ﬂ_@&t indirecttax —~ 150 S e
Vlll) Gnvernment ﬁl'lal EDHSUmptiﬂn. 1000
: EXpenditure : ———
IX) Depreciation 100 ——
X) Profits 500
- "~ SECTION-B *
18. is ohe of the main' positive contributions made by British in India.(1)

19. Which of the following policies was adopted to increase the competitive position of
Indian goods in international markets? e

—

a) Export duties wWere removed ~ .

' ' bolished
Importlicensing was @ h
2; Th[; rate of corporation tax was reduced | o
d) Foreign {stitutional investors were allowed to invest in India )

dia in'the area of.
: erformed better than In _
20. Pakistan has p -

—

1)

b - . : .
d) Both a) and ) rof which of the following regional economic grouping
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orpti :
22, Defin ne 8050'PHVE capaci ®lty of environment-

lishment with 4
23 An estd? 't 4 hired workers js known as _ or
'éas’(al::llsl'""ent . | - XS&C’[

g |

i

24 Operﬂﬂon flood was |aUnched in

a) 1946

b) 1960 ﬁ
d) 1970 % . )

25. Which Uﬂe of the fﬂllnwmg organizations regulates the health Sectc;r in India?

»~ a) ICMR
b) UGC
c) AICTE
d) RBI

~pa.

(1)

26. and currency notes of old Mahatma Gandhi series
were banned as legal tender money on 8 November 2016. (1)

21. Wi|1;ch of the following is the correct dlfference between phymca! and human
capita

a) Physical capital can be sold but human capital cannot be sold

b) Physical capital cannot be separated from its owner while human capital can be
separated :

¢) Physical capital provides both private and social benefits while human cap|ta|
provides only social benefits .

d) The depreciation of physical capital can be arrested with more investment while
human capital will continue to depreciate | (1)

28. Answer the following guestions on the basis of the follovﬁhé data

' Comment upon the population growth rates among the three countries
I~ Which country has the most skewed sex ratio

C \ RATIO |
COUNTRY.[ ESTIMATED | ANNUAL GROWTH SEX

— POPULATION IN MILL|ON RATE OF POPULATION —" 1

India 1311 1.2% 929 __—
China 1371 0.5% Ei-}//

I 0

iﬁiﬂstan 188 2.1 /n__ 94 ()

~_ - £ n~fR

Scanned with CamScanner

C} Scanned with OKEN S

nnnnnn



29
" GW’
® reagons for the sig of in Pakista™
30, Critica" or . W growth and reeme™9eNCe ©f Poverty In raj Brilish (4)
Colgp; y appral Me q f industrial policy pursued by
| dmijnjstration. 'the short falls © e 4)
31. |k | (

Xplain the steps taken by gouér:;uﬁqent in developing rural markets.

32. D . 5
COmrr? YOU think that in the last 50 years, employment generated in the Cquntl’)' Iof
“Nsurate with the growth of Gpp in India? Discuss the changing structul® == (4)

SMPloyment during this periog. - 3
33. Bring oyt the relationship between human capital and economic gro_x.ﬁh-. ©)
34. a) Discyss the Iiberalization__measures introduced in 1991 in the industrial sector;
b) Agriculture sector appearé to béaﬁuersely affected by the reform process. Why?

: h (3+3=6)
%en-THE END—-x
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